

Quote#	Quote Date
040412-12	4/4/2012

TO:

Name: Frank Whittaker

Company: West Virginia State Treasurer's Office

Address: 2019 Washington Street East

Address: Charleston, WV 25305

Phone:

Fax:

Email:

FROM:

Name: Todd May

Company: AdvizeX Technologies Address: 6480 Rockside Woods Blvd Address: Independence, OH 44131

Phone: 216-901-1818

Fax:

Terms & Conditions	F.O.B.
Acceptance of this quotation includes acceptance of all Terms & Conditions	Point of Origin
as specified in this quotation.	100

ITEM	DESCRIPTION	QTY	UNIT PRICE	EXTENDED
	Production			
SFP-10G-SR=	10GBASE-SR SFP Module	8	\$1,495.00	\$11,960.00
N55-DL2	Nexus 5548 Layer 2 Daughter Card	2	\$0.00	\$0.00
N5K-C5548UP-FA	Nexus 5548 UP Chassis, 32 10GbE Ports, 2 PS, 2 Fans	2	\$25,600.00	\$51,200.00
N55-M-BLNK	Nexus 5500 Module Blank Cover	2	\$0.00	\$0.00
N55-PAC-750W	Nexus 5500 PS, 750W, Front to Back Airflow	4	\$0.00	\$0.00
N5548-ACC-KIT	Nexus 5548 Chassis Accessory Kit	2	\$0.00	\$0.00
N5548P-FAN	Nexus 5548P Fan Module	4	\$0.00	\$0.00
N5KUK9-503N2.1	Nexus 5000 Base OS Software Rel 5.0(3)N2(1)	2	\$0.00	\$0.00
CAB-C13-C14-2M	Power Cord Jumper, C13-C14 Connectors, 2 Meter Length	4	\$0.00	\$0.00
SFP-10G-SR	10GBASE-SR SFP Module	4	\$1,495.00	\$5,980.00
MDS-9148-16	CISCO 48-PORT 8GB FC SWITCH 16 ACTIVE PORTS	2	\$5,300.00	\$10,600.00
MDS-PW8-US	Qty 2 9216 9120 9124 9140 Power Cord US	2	\$0.00	\$0.00
MDS-SFP-8GSW	2/4/8-GBPS FC SHORTWAVE SWITCH SFP LC	32	\$210.00	\$6,720.00
N20-B6625-1	UCS B200 M2 Blade Server w/o CPU, memory, HDD, mezzanine	7	\$2,954.00	\$20,678.00
A01-X0115	Intel Xeon X5690 3.46GHz /6c/130W/12MB cache/DDR3 1333MHz	14	\$4,686.00	\$65,604.00
N20-BBLKD	HDD slot blanking panel for UCS B-Series Blade Servers	14	\$0.00	\$0.00
N20-BHTS1	CPU heat sink for UCS B200 Blade Server	14	\$0.00	\$0.00
A02-M316GB2-L	16GB DDR3-1066MHz RDIMM/PC3-8500/quad rank/Low-Dual Volt	84	\$1,249.00	\$104,916.00
N20-AC0002	UCS M81KR Virtual Interface Card/PCle/2-port 10Gb	7	\$1,499.00	\$10,493.00
N10-E0060	6-port 8Gb FC/Expansion module/UCS 6100 Series	2	\$3,600.00	\$7,200.00
DS-SFP-FC8G- SW=	2/4/8-GBPS FC SHORTWAVE SFP LC	12	\$260.00	\$3,120.00
N10-S6100	UCS 6120XP 20-port Fabric Interconnect/0 PSU/2 fans/no SFP+	2	\$26,249.00	\$52,498.00



Quote #	Quote Date
040412-12	4/4/2012

TO:

Name: Frank Whittaker

Company: West Virginia State Treasurer's Office

Address: 2019 Washington Street East

Address: Charleston, WV 25305

Phone: Fax:

Email:

FROM:

Name: Todd May

Company: AdvizeX Technologies Address: 6480 Rockside Woods Blvd Address: Independence, OH 44131

Phone: 216-901-1818

Fax:

Terms & Conditions	F.O.B.
Acceptance of this quotation includes acceptance of all Terms & Conditions	Point of Origin
as specified in this quotation.	

ITEM	DESCRIPTION	QTY	UNIT PRICE	EXTENDED
N10-PAC1-550W	550W power supply unit for UCS 6120XP/100-240VAC (Included)	4	\$1,405.00	\$5,620.00
N10-SACCA	Accessory kit for UCS 6120XP Fabric Interconnect (Included)	2	\$280.00	\$560.00
N10-MGT005	UCS Manager v1.X (Included)	2	\$0.00	\$0.00
CAB-C13-C14- JMPR	Recessed receptical AC power cord 27	4	\$0.00	\$0.00
N10-SBLKE	Expansion module slot blanking panel for UCS 6100 Series	2	\$0.00	\$0.00
N20-l6584	UCS 2104XP Fabric Extender/4 external 10Gb ports	4	\$3,749.00	\$14,996.00
N20-FAN5	Fan module for UCS 5108	8	\$0.00	\$0.00
N20-C6508	UCS 5108 Blade Server Chassis/0 PSU/8 fans/0 fabric extender	1	\$5,999.00	\$5,999.00
N20-PAC5-2500W	2500W power supply unit for UCS 5108	2	\$936.00	\$1,872.00
N01-UAC1	Single phase AC power module for UCS 5108	1 1	\$0.00	\$0.00
CAB-C19-CBN	Cabinet Jumper Power Cord, 250 VAC 16A, C20-C19 Connectors (Included)	2	\$0.00	\$0.00
N20-CBLKB1	Blade slot blanking panel for UCS 5108/single slot (Included)	8	\$0.00	\$0.00
N20-CBLKP	Power supply unit blanking panel for UCS 5108 (Included)	2	\$0.00	\$0.00
N20-FW005	UCS 5108 Blade Server Chassis FW package (Included)	1	\$0.00	\$0.00
N20-CAK	Access. kit for 5108 Blade Chassis incl Railkit, KVM dongle	1	\$0.00	\$0.00
CAB-C19-CBN=	Cabinet Jumper Power Cord, 250 VAC 16A, C20-C19 Connectors	2	\$45.00	\$90.00
N20-PAC5- 2500W=	2500W power supply unit for UCS 5108	2	\$936.00	\$1,872.00
N10-L001	UCS 6100 Series Fabric Interconnect 1 10GE port	12	\$2,774.00	\$33,288.00
VNX53D153015M	VNX5300 DPE; 15X3.5 DRIVES - MINI RACK 8X300G	1	\$15,940.00	\$15,940.00
V31-DAE-N-15	3U DAE WITH 15X3.5 INCH DRIVE SLOTS	1	\$2,360.00	\$2,360.00



Quote # Quote Date 040412-12 4/4/2012

(Quote valid for 30 days)

<u>TO:</u>

Name: Frank Whittaker

Company: West Virginia State Treasurer's Office

Address: 2019 Washington Street East

Address: Charleston, WV 25305

Phone:

Fax:

Email:

FROM:

Name: Todd May

Company: AdvizeX Technologies Address: 6480 Rockside Woods Blvd Address: Independence, OH 44131

Phone: 216-901-1818

Fax:

Terms & Conditions	F.O.B.
Acceptance of this quotation includes acceptance of all Terms & Conditions	Point of Origin
as specified in this quotation.	

ITEM	DESCRIPTION	QTY	UNIT PRICE	EXTENDED
VNX5300CS2M	VNX5300 CONTROL STATION - 2ND CS - Mini RACK	1	\$1,309.00	\$1,309.00
VNX5300CSM	VNX5300 CONTROL STATION -MINIRACK	1	\$0.00	\$0.00
VNX5300DMEM	VNX 5300 DME: 1 DATA MOVER+FC SLIC-MINI RACK	1	\$0.00	\$0.00
VNX5300DMM	VNX5300 ADD ON DATA MOVER+FC SLIC-MINI RACK	1	\$1,499.00	\$1,499.00
VDMMXG2OPAS	10GBE DM MODULE 2 OP PORTS (INCL 2 SFP+) FACTORY	2	\$3,000.00	\$6,000.00
V13-PWR-12	2 C13 PWRCORDS W/ NEMA 5-15 PLUGS 125V 10A	6	\$0.00	\$0.00
VNXDMCBLD2S2	VNX CABLE KIT FOR DPE + 2 DM; 1 CS; 2 SPS	1	\$0.00	\$0.00
VNXFCSFPS	ADDITIONAL 8 G FC SFP FOR VNX 51/53	1	\$400.00	\$400.00
VNX53-KIT	DOCUMENTATION KIT FOR VNX5300	1	\$0.00	\$0.00
VNXSPSAS	2ND OPTIONAL SPS FOR VNX 51/53	1	\$492.00	\$492.00
VSPM8GFFEAS	VNX5300 4 PORT 8G FC IO MODULE PAIR	1	\$2,500.00	\$2,500.00
VNX-RPHW3-G4	GEN4 RPA FOR VNX5100 AND VNX5300	2	\$7,540.00	\$15,080.00
V13-PWR-12	2 C13 PWRCORDS W/ NEMA 5-15 PLUGS 125V 10A	4	\$0.00	\$0.00
V31-DAE-N-15	3U DAE WITH 15X3.5 INCH DRIVE SLOTS	4	\$2,360.00	\$9,440.00
FLV3VS6F-200	200GB FAST CACHE SAS FLASH-15X3.5 IN DPE/DAE	2	\$4,950.00	\$9,900.00
V3-VS15-300	300GB 15K 520BPS 6GB SAS 3.5 CARRIER	5	\$680.00	\$3,400.00
V3-VS6F-200	200GB 6GB SAS FLASH DRIVE	15	\$4,950.00	\$74,250.00
V3-VS6F-200	200GB 6GB SAS FLASH DRIVE	1	\$4,950.00	\$4,950.00
V3-VS15-600	600GB 15K 520BPS 6GB SAS 3.5 CARRIER	20	\$1,080.00	\$21,600.00
V3-VS15-600	600GB 15K 520BPS 6GB SAS 3.5 CARRIER	2	\$1,080.00	\$2,160.00
V3-VS07-020	2TB 7200RPM 6GB SAS 3.5 CARRIER	15	\$950.00	\$14,250.00
V3-VS07-020	2TB 7200RPM 6GB SAS 3.5 CARRIER	1	\$950.00	\$950.00
Shings transcriptings in the control of	Production Hardware Subtotal		***************************************	\$601,746.00
UIM-011-11	IONIX UIM MANAGED COMPUTE BLADE	7	\$6,500.00	\$45,500.00
UIM-LIC-00	LICENSE CARD	7	\$0.00	\$0.00
L-N1K-VLCPU-16=	Nexus 1000V eDelivery CPU License Qty 16	1	\$10,775.00	\$10,775.00
I	<u>Į</u>		1	L



Quote #	Quote Date	
040412-12	4/4/2012	

<u>TO:</u>

Name: Frank Whittaker

Company: West Virginia State Treasurer's Office

Address: 2019 Washington Street East

Address: Charleston, WV 25305

Phone:

Fax:

Email:

FROM:

Name: Todd May

Company: AdvizeX Technologies Address: 6480 Rockside Woods Blvd Address: Independence, OH 44131

Phone: 216-901-1818

Fax:

Terms & Conditions	F.O.B.
Acceptance of this quotation includes acceptance of all Terms & Conditions	Point of Origin
as specified in this quotation.	

ITEM	DESCRIPTION	QTY	UNIT PRICE	EXTENDED
N1K-VSMK9-	Nexus 1000V VSM Download	16	\$0.00	\$0.00
404S1=				
N1K-VLEM-UCS-1	Nexus 1000V License PAK For 1 Virtual Ethernet Module On UCS	16	\$0.00	\$0.00
UNIU-V53	UNISPHERE FOR UNIFIED AND VNX OE FOR A	1	\$8,194.00	\$8,194.00
01410-433	VNX5300	(5)	φο, 194.00	ψο, 194.00
BASEP-V53	BASE FILE LICENSE (CIFS AND FTP) FOR VNX5300	1	\$0.00	\$0.00
ADVP-V53	ADV FILE LICENSE (NFS; MPFS AND PNFS) FOR	1	\$0.00	\$0.00
F0T0 \ / F0	VNX5300		40 -0- 00	40 707 00
FSTS-V53	FAST SUITE FOR VNX5300	1 1	\$3,797.00	\$3,797.00
456-103-619 456-005-705	DPA REPLICATION ANALYSIS: VNX5300(BLOCK) Replication Manager: VNX5300	1	\$0.00 \$0.00	\$0.00 \$0.00
PPAK-V53	TOTAL PROTECTION PACK for VNX5300	1	\$18,700.00	\$18,700.00
11 AK-V00	Production Software Subtotal	1	ψ10,700.00	\$86,966.00
	Troduction contware outstotal			\$00,000.00
CON-OSP-	ONSITE 24X7X4 Nexus 5548 UP Chassis, 32 10GbE	10	\$2,530.00	\$25,300.00
C5548UP	Ports			
WU-PREHW-001	PREMIUM HARDWARE SUPPORT - WARR UPG MDS 9148	1	\$766.00	\$766.00
M-PREHW-001	PREMIUM HARDWARE SUPPORT MDS 9148	2	\$850.00	\$1,700.00
CON-UCS7-	UC SUPPORT 24X7X4OS UCSB200 M2 Blade Svr w/o	35	\$255.00	\$8,925.00
B66251	CPU Mem HDD Mez			
CON-UCS7- 1E0060	UC SUPPORT 24X7X4OS 6PT 8Gbps FC/Expansion Module 6100 Series	10	\$99.00	\$990.00
CON-UCS7- 2C6508	UC SUPPORT 24X7X4OS 5108 Blade Server Chassis	5	\$217.00	\$1,085.00
CON-UCS7-	UC SUPPORT 24X7X4OS 6120XP 20PT Fabric	5	\$715.00	\$3,575.00
1S6100	Interconnect	Ŭ	47 10.00	40,070.00
WU-PREHW-001	PREMIUM HARDWARE SUPPORT - WARR UPG VNX5300	1	\$2,745.00	\$2,745.00
M-PREHW-001	PREMIUM HARDWARE SUPPORT VNX5300	2	\$3,050.00	\$6,100.00
M-PREHW-001	Premium Hardware Annual Support RPA	8	\$754.00	\$6,032.00
M-PREHW-001	Premium Hardware Annual Support DAE	4	\$472.00	\$1,888.00
M-PREHW-001	VNX 200GB FAST CACHE SAS FLASH ANNUAL MAINTENANCE	4	\$594.00	\$2,376.00



Quote #	Quote Date
040412-12	4/4/2012

TO:

Name: Frank Whittaker

Company: West Virginia State Treasurer's Office

Address: 2019 Washington Street East

Address: Charleston, WV 25305

Phone: Fax:

Email:

FROM:

Name: Todd May

Company: AdvizeX Technologies Address: 6480 Rockside Woods Blvd Address: Independence, OH 44131

Phone: 216-901-1818

Fax:

Terms & Conditions	F.O.B.
Acceptance of this quotation includes acceptance of all Terms & Conditions	Point of Origin
as specified in this quotation.	

ITEM	DESCRIPTION	QTY	UNIT PRICE	EXTENDED
M-PREHW-001	VNX 200GB 6GB SAS FLASH DRIVE ANNUAL MAINTENANCE	2	\$594.00	\$1,188.00
M-PREHW-001	300GB 15K 520BPS 6GB SAS 3.5 CARRIER ANNUAL MAINTENANCE	10	\$82.00	\$820.00
M-PREHW-001	600GB 15K 520BPS 6GB SAS 3.5 CARRIER ANNUAL MAINTENANCE	44	\$130.00	\$5,720.00
M-PREHW-001	600GB 15K 520BPS 6GB SAS 3.5 CARRIER ANNUAL MAINTENANCE	32	\$114.00	\$3,648.00
	Production Hardware Support Subtotal			\$72,858.00
CON-SAU-L- VLCPU	SW APP SUPP + UPGR Nexus 1000V eDelivery	80	\$174.00	\$13,920.00
M-PRESW-001	PREMIUM SOFTWARE SUPPORT VNX5300	5	\$1,475.00	\$7,375.00
M-PRESW-001	PREMIUM SOFTWARE SUPPORT FAST SUITE	5	\$683.00	\$3,415.00
M-PRESW-001	TOTAL PROTECTION PACK FOR VNX5300	5	\$3,366.00	\$16,830.00
	Production Software Support Subtotal			\$41,540.00
	Production Subtotal			\$803,110.00
	Disaster Recovery			
SFP-10G-SR=	10GBASE-SR SFP Module	8	\$1,495.00	\$11,960.00
N55-DL2	Nexus 5548 Layer 2 Daughter Card	2	\$0.00	\$0.00
N5K-C5548UP-FA	Nexus 5548 UP Chassis, 32 10GbE Ports, 2 PS, 2 Fans	2	\$25,600.00	\$51,200.00
N55-M-BLNK	Nexus 5500 Module Blank Cover	2	\$0.00	\$0.00
N55-PAC-750W	Nexus 5500 PS, 750W, Front to Back Airflow	4	\$0.00	\$0.00
N5548-ACC-KIT	Nexus 5548 Chassis Accessory Kit	2	\$0.00	\$0.00
N5548P-FAN	Nexus 5548P Fan Module	4	\$0.00	\$0.00
N5KUK9-503N2.1	Nexus 5000 Base OS Software Rel 5.0(3)N2(1)	2	\$0.00	\$0.00
CAB-C13-C14-2M	Power Cord Jumper, C13-C14 Connectors, 2 Meter Length	4	\$0.00	\$0.00
SFP-10G-SR	10GBASE-SR SFP Module	4	\$1,495.00	\$5,980.00



Quote Date Quote # 040412-12 4/4/2012

(Quote valid for 30 days)

<u>TO:</u>

Name: Frank Whittaker

Company: West Virginia State Treasurer's Office

Address: 2019 Washington Street East

Address: Charleston, WV 25305

Phone:

Email:

Fax:

FROM:

Name: Todd May

Company: AdvizeX Technologies Address: 6480 Rockside Woods Blvd Address: Independence, OH 44131

Phone: 216-901-1818

Fax:

Terms & Conditions	F.O.B.
Acceptance of this quotation includes acceptance of all Terms & Conditions	Point of Origin
as specified in this quotation.	

DESCRIPTION	QTY	UNIT PRICE	EXTENDED
CISCO 48-PORT 8GB FC SWITCH 16 ACTIVE PORTS	2	\$5,300.00	\$10,600.00
Qty 2 9216 9120 9124 9140 Power Cord US	2	\$0.00	\$0.00
2/4/8-GBPS FC SHORTWAVE SWITCH SFP LC	32		\$6,720.00
UCS B200 M2 Blade Server w/o CPU, memory, HDD, mezzanine	7	\$2,954.00	\$20,678.00
Intel Xeon X5690 3.46GHz /6c/130W/12MB cache/DDR3 1333MHz	14	\$4,686.00	\$65,604.00
HDD slot blanking panel for UCS B-Series Blade Servers	14	\$0.00	\$0.00
CPU heat sink for UCS B200 Blade Server	14	\$0.00	\$0.00
16GB DDR3-1066MHz RDIMM/PC3-8500/quad	84	\$1,249.00	\$104,916.00
UCS M81KR Virtual Interface Card/PCle/2-port 10Gb	7	\$1,499.00	\$10,493.00
6-port 8Gb FC/Expansion module/UCS 6100 Series	2	\$3,600.00	\$7,200.00
2/4/8-GBPS FC SHORTWAVE SFP LC	12	\$260.00	\$3,120.00
UCS 6120XP 20-port Fabric Interconnect/0 PSU/2 fans/no SFP+	2	\$26,249.00	\$52,498.00
550W power supply unit for UCS 6120XP/100-240VAC (Included)	4	\$1,405.00	\$5,620.00
Accessory kit for UCS 6120XP Fabric Interconnect	2	\$280.00	\$560.00
* 1 CONTROL OF A C	2	\$0.00	\$0.00
Recessed receptical AC power cord 27	4	\$0.00	\$0.00
Expansion module slot blanking panel for UCS 6100 Series	2	\$0.00	\$0.00
UCS 2104XP Fabric Extender/4 external 10Gb ports	4	\$3,749.00	\$14,996.00
Fan module for UCS 5108	8	\$0.00	\$0.00
UCS 5108 Blade Server Chassis/0 PSU/8 fans/0 fabric extender	1	\$5,999.00	\$5,999.00
2500W power supply unit for UCS 5108	2	\$936.00	\$1,872.00
	CISCO 48-PORT 8GB FC SWITCH 16 ACTIVE PORTS Qty 2 9216 9120 9124 9140 Power Cord US 2/4/8-GBPS FC SHORTWAVE SWITCH SFP LC UCS B200 M2 Blade Server w/o CPU, memory, HDD, mezzanine Intel Xeon X5690 3.46GHz /6c/130W/12MB cache/DDR3 1333MHz HDD slot blanking panel for UCS B-Series Blade Servers CPU heat sink for UCS B200 Blade Server 16GB DDR3-1066MHz RDIMM/PC3-8500/quad rank/Low-Dual Volt UCS M81KR Virtual Interface Card/PCle/2-port 10Gb 6-port 8Gb FC/Expansion module/UCS 6100 Series 2/4/8-GBPS FC SHORTWAVE SFP LC UCS 6120XP 20-port Fabric Interconnect/0 PSU/2 fans/no SFP+ 550W power supply unit for UCS 6120XP/100-240VAC (Included) Accessory kit for UCS 6120XP Fabric Interconnect (Included) UCS Manager v1.X (Included) Recessed receptical AC power cord 27 Expansion module slot blanking panel for UCS 6100 Series UCS 2104XP Fabric Extender/4 external 10Gb ports Fan module for UCS 5108 UCS 5108 Blade Server Chassis/0 PSU/8 fans/0 fabric extender	CISCO 48-PORT 8GB FC SWITCH 16 ACTIVE PORTS Qty 2 9216 9120 9124 9140 Power Cord US 2/4/8-GBPS FC SHORTWAVE SWITCH SFP LC 32 UCS B200 M2 Blade Server w/o CPU, memory, HDD, mezzanine Intel Xeon X5690 3.46GHz /6c/130W/12MB 14 cache/DDR3 1333MHz HDD slot blanking panel for UCS B-Series Blade Servers CPU heat sink for UCS B200 Blade Server 14 16GB DDR3-1066MHz RDIMM/PC3-8500/quad rank/Low-Dual Volt UCS M81KR Virtual Interface Card/PCle/2-port 10Gb 7 6-port 8Gb FC/Expansion module/UCS 6100 Series 2 2/4/8-GBPS FC SHORTWAVE SFP LC 12 UCS 6120XP 20-port Fabric Interconnect/0 PSU/2 fans/no SFP+ 550W power supply unit for UCS 6120XP/100-240VAC (Included) Accessory kit for UCS 6120XP Fabric Interconnect (Included) UCS Manager v1.X (Included) Recessed receptical AC power cord 27 Expansion module slot blanking panel for UCS 6100 Series UCS 2104XP Fabric Extender/4 external 10Gb ports Fan module for UCS 5108 UCS 5108 Blade Server Chassis/0 PSU/8 fans/0 fabric extender	CISCO 48-PORT 8GB FC SWITCH 16 ACTIVE PORTS 2 \$5,300.00 Qty 2 9216 9120 9124 9140 Power Cord US 2 2 \$0.00 2/4/8-GBPS FC SHORTWAVE SWITCH SFP LC 32 \$210.00 UCS B200 M2 Blade Server w/o CPU, memory, HDD, 7 \$2,954.00 mezzanine Intel Xeon X5690 3.46GHz /6c/130W/12MB 14 \$4,686.00 cache/DDR3 1333MHz HDD slot blanking panel for UCS B-Series Blade 14 \$0.00 Servers CPU heat sink for UCS B200 Blade Server 14 \$0.00 16GB DDR3-1066MHz RDIMM/PC3-8500/quad 84 \$1,249.00 rank/Low-Dual Volt UCS M31KR Virtual Interface Card/PCle/2-port 10Gb 7 \$1,499.00 6-port 8Gb FC/Expansion module/UCS 6100 Series 2 \$3,600.00 2/4/8-GBPS FC SHORTWAVE SFP LC 12 \$260.00 UCS 6120XP 20-port Fabric Interconnect/0 PSU/2 \$26,249.00 fans/no SFP+ 550W power supply unit for UCS 6120XP/100-240VAC 4 \$1,405.00 (Included) 2 \$260.00 UCS Manager v1.X (Included) 2 \$0.00 Recessed receptical AC power cord 27 4 \$0.00 Expansion module slot blanking panel for UCS 6100 Series UCS 2104XP Fabric Extender/4 external 10Gb ports 4 \$3,749.00 Fan module for UCS 5108 UCS 5108 Blade Server Chassis/0 PSU/8 fans/0 fabric 1 \$5,999.00 extender



Quote #	Quote Date
040412-12	4/4/2012

<u>TO:</u>

Name: Frank Whittaker

Company: West Virginia State Treasurer's Office

Address: 2019 Washington Street East

Address: Charleston, WV 25305

Phone:

Fax:

Email:

FROM:

Name: Todd May

Company: AdvizeX Technologies Address: 6480 Rockside Woods Blvd Address: Independence, OH 44131

Phone: 216-901-1818

Fax:

Terms & Conditions	F.O.B.
Acceptance of this quotation includes acceptance of all Terms & Conditions	Point of Origin
as specified in this quotation.	

ITEM	DESCRIPTION	QTY	UNIT PRICE	EXTENDED
N01-UAC1	Single phase AC power module for UCS 5108	1	\$0.00	\$0.00
CAB-C19-CBN	Cabinet Jumper Power Cord, 250 VAC 16A, C20-C19 Connectors (Included)	2	\$0.00	\$0.00
N20-CBLKB1	Blade slot blanking panel for UCS 5108/single slot (Included)	8	\$0.00	\$0.00
N20-CBLKP	Power supply unit blanking panel for UCS 5108 (Included)	2	\$0.00	\$0.00
N20-FW005	UCS 5108 Blade Server Chassis FW package (Included)	1	\$0.00	\$0.00
N20-CAK	Access. kit for 5108 Blade Chassis incl Railkit, KVM dongle	1	\$0.00	\$0.00
CAB-C19-CBN=	Cabinet Jumper Power Cord, 250 VAC 16A, C20-C19 Connectors	2	\$45.00	\$90.00
N20-PAC5- 2500W=	2500W power supply unit for UCS 5108	2	\$936.00	\$1,872.00
N10-L001	UCS 6100 Series Fabric Interconnect 1 10GE port	12	\$2,774.00	\$33,288.00
VNX53D153015M	VNX5300 DPE; 15X3.5 DRIVES - MINI RACK 8X300G	1	\$15,940.00	\$15,940.00
V31-DAE-N-15 VNX5300CS2M	3U DAE WITH 15X3.5 INCH DRIVE SLOTS VNX5300 CONTROL STATION - 2ND CS - Mini RACK	1 1	\$2,360.00 \$1,309.00	\$2,360.00 \$1,309.00
VNX5300CSM VNX5300DMEM	VNX5300 CONTROL STATION -MINIRACK VNX 5300 DME: 1 DATA MOVER+FC SLIC-MINI RACK	1 1	\$0.00 \$0.00	\$0.00 \$0.00
VNX5300DMM	VNX5300 ADD ON DATA MOVER+FC SLIC-MINI RACK	1	\$1,499.00	\$1,499.00
VDMMXG2OPAS	10GBE DM MODULE 2 OP PORTS (INCL 2 SFP+) FACTORY	2	\$3,000.00	\$6,000.00
V13-PWR-12	2 C13 PWRCORDS W/ NEMA 5-15 PLUGS 125V 10A	6	\$0.00	\$0.00
VNXDMCBLD2S2 S	VNX CABLE KIT FOR DPE + 2 DM; 1 CS; 2 SPS	1	\$0.00	\$0.00
VNXFCSFPS	ADDITIONAL 8 G FC SFP FOR VNX 51/53	1	\$400.00	\$400.00
VNX53-KIT	DOCUMENTATION KIT FOR VNX5300	1	\$0.00	\$0.00
VNXSPSAS	2ND OPTIONAL SPS FOR VNX 51/53	1	\$492.00	\$492.00
VSPM8GFFEAS	VNX5300 4 PORT 8G FC IO MODULE PAIR	1	\$2,500.00	\$2,500.00



Quote # **Quote Date** 040412-12 4/4/2012

(Quote valid for 30 days)

TO:

Name: Frank Whittaker

Company: West Virginia State Treasurer's Office

Address: 2019 Washington Street East

Address: Charleston, WV 25305

Phone:

Fax: Email:

FROM:

Name: Todd May

Company: AdvizeX Technologies Address: 6480 Rockside Woods Blvd Address: Independence, OH 44131

Phone: 216-901-1818

Fax:

Terms & Conditions	F.O.B.
Acceptance of this quotation includes acceptance of all Terms & Conditions	Point of Origin
as specified in this quotation.	

ITEM	DESCRIPTION	QTY	UNIT PRICE	EXTENDED
VNX-RPHW3-G4	GEN4 RPA FOR VNX5100 AND VNX5300	2	\$7,540.00	\$15,080.00
V13-PWR-12	2 C13 PWRCORDS W/ NEMA 5-15 PLUGS 125V 10A	4	\$0.00	\$0.00
V31-DAE-N-15	3U DAE WITH 15X3.5 INCH DRIVE SLOTS	4	\$2,360.00	\$9,440.00
FLV3VS6F-200	200GB FAST CACHE SAS FLASH-15X3.5 IN DPE/DAE	2	\$4,950.00	\$9,900.00
V3-VS15-300	300GB 15K 520BPS 6GB SAS 3.5 CARRIER	5	\$680.00	\$3,400.00
V3-VS6F-200	200GB 6GB SAS FLASH DRIVE	15	\$4,950.00	\$74,250.00
V3-VS6F-200	200GB 6GB SAS FLASH DRIVE	1	\$4,950.00	\$4,950.00
V3-VS15-600	600GB 15K 520BPS 6GB SAS 3.5 CARRIER	25	\$1,080.00	\$27,000.00
V3-VS15-600	600GB 15K 520BPS 6GB SAS 3.5 CARRIER	2	\$1,080.00	\$2,160.00
V3-VS07-020	2TB 7200RPM 6GB SAS 3.5 CARRIER	20	\$950.00	\$19,000.00
V3-VS07-020	2TB 7200RPM 6GB SAS 3.5 CARRIER	1	\$950.00	\$950.00
	Disaster Recovery Hardware Subtotal		**	\$611,896.00
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			•
UIM-011-11	IONIX UIM MANAGED COMPUTE BLADE	7	\$6,500.00	\$45,500.00
UIM-LIC-00	LICENSE CARD	7	\$0.00	\$0.00
L-N1K-VLCPU-16=	Nexus 1000V eDelivery CPU License Qty 16	1	\$10,775.00	\$10,775.00
N1K-VSMK9-	Nexus 1000V VSM Download	16	\$0.00	\$0.00
404S1=				
N1K-VLEM-UCS-1	Nexus 1000V License PAK For 1 Virtual Ethernet Module On UCS	16	\$0.00	\$0.00
UNIU-V53	UNISPHERE FOR UNIFIED AND VNX OE FOR A VNX5300	1	\$8,194.00	\$8,194.00
BASEP-V53	BASE FILE LICENSE (CIFS AND FTP) FOR VNX5300	1	\$0.00	\$0.00
ADVP-V53	ADV FILE LICENSE (NFS; MPFS AND PNFS) FOR VNX5300	1	\$0.00	\$0.00
FSTS-V53	FAST SUITE FOR VNX5300	1	\$3,797.00	\$3,797.00
456-103-619	DPA REPLICATION ANALYSIS: VNX5300(BLOCK)	1	\$0.00	\$0.00
456-005-705	Replication Manager: VNX5300	1	\$0.00	\$0.00
PPAK-V53	TOTAL PROTECTION PACK for VNX5300	1	\$18,700.00	\$18,700.00
	Disaster Recovery Software Subtotal	₹1	- 0.5 (A 0.5) (A 0.5)	\$86,966.00



Quote # Quote Date 040412-12 4/4/2012

(Quote valid for 30 days)

<u>TO:</u>

Name: Frank Whittaker

Company: West Virginia State Treasurer's Office

Address: 2019 Washington Street East

Address: Charleston, WV 25305

Phone: Fax:

Email:

FROM:

Name: Todd May

Company: AdvizeX Technologies Address: 6480 Rockside Woods Blvd Address: Independence, OH 44131

Phone: 216-901-1818

Fax:

Terms & Conditions	F.O.B.
Acceptance of this quotation includes acceptance of all Terms & Conditions	Point of Origin
as specified in this quotation.	

ITEM	DESCRIPTION	QTY	UNIT PRICE	EXTENDED
CON-OSP-	ONSITE 24X7X4 Nexus 5548 UP Chassis, 32 10GbE	10	\$2,530.00	\$25,300.00
C5548UP	Ports			
WU-PREHW-001	PREMIUM HARDWARE SUPPORT - WARR UPG MDS	1	\$766.00	\$766.00
	9148		2007/10/2004 1900/20	t as the reconstruct and the
M-PREHW-001	PREMIUM HARDWARE SUPPORT MDS 9148	2	\$850.00	\$1,700.00
CON-UCS7-	UC SUPPORT 24X7X4OS UCSB200 M2 Blade Svr w/o	35	\$255.00	\$8,925.00
B66251	CPU Mem HDD Mez	29	2 881 C W	12/2/10 (0.12/10)
CON-UCS7-	UC SUPPORT 24X7X4OS 6PT 8Gbps FC/Expansion	10	\$99.00	\$990.00
1E0060	Module 6100 Series			# V.
CON-UCS7-	UC SUPPORT 24X7X4OS 5108 Blade Server Chassis	5	\$217.00	\$1,085.00
2C6508				
CON-UCS7-	UC SUPPORT 24X7X4OS 6120XP 20PT Fabric	5	\$715.00	\$3,575.00
1S6100	Interconnect			
WU-PREHW-001	PREMIUM HARDWARE SUPPORT - WARR UPG	1	\$2,745.00	\$2,745.00
	VNX5300			
M-PREHW-001	PREMIUM HARDWARE SUPPORT VNX5300	2	\$3,050.00	\$6,100.00
M-PREHW-001	Premium Hardware Annual Support RPA	8	\$754.00	\$6,032.00
M-PREHW-001	Premium Hardware Annual Support DAE	4	\$472.00	\$1,888.00
M-PREHW-001	VNX 200GB FAST CACHE SAS FLASH ANNUAL MAINTENANCE	4	\$594.00	\$2,376.00
M-PREHW-001	VNX 200GB 6GB SAS FLASH DRIVE ANNUAL MAINTENANCE	2	\$594.00	\$1,188.00
M-PREHW-001	300GB 15K 520BPS 6GB SAS 3.5 CARRIER ANNUAL MAINTENANCE	10	\$82.00	\$820.00
M-PREHW-001	600GB 15K 520BPS 6GB SAS 3.5 CARRIER ANNUAL MAINTENANCE	54	\$130.00	\$7,020.00
M-PREHW-001	600GB 15K 520BPS 6GB SAS 3.5 CARRIER ANNUAL	42	\$114.00	\$4,788.00
	MAINTENANCE			9
	Disaster Recovery Hardware Support Subtotal			\$75,298.00
CON-SAU-L- VLCPU	SW APP SUPP + UPGR Nexus 1000V eDelivery	80	\$174.00	\$13,920.00
M-PRESW-001	PREMIUM SOFTWARE SUPPORT VNX5300	5	\$1,475.00	\$7,375.00
M-PRESW-001	PREMIUM SOFTWARE SUPPORT VIX5300 PREMIUM SOFTWARE SUPPORT FAST SUITE	5	\$683.00	\$3,415.00
M-PRESW-001	to referential programmer in the probability of the probability of parties and the medical probability and property	5 5	\$3,366.00	\$16,830.00
INI-LKEON-001	TOTAL PROTECTION PACK FOR VNX5300	l 2	33,300.00	\$10,030.00



Quote # **Quote Date** 040412-12 4/4/2012

(Quote valid for 30 days)

TO:

Name: Frank Whittaker

Company: West Virginia State Treasurer's Office

Address: 2019 Washington Street East

Phone:

Fax: Email:

Address: Charleston, WV 25305

Fax:

Name: Todd May

Phone: 216-901-1818

FROM:

Email: tmay@advizex.com

Company: AdvizeX Technologies

Address: 6480 Rockside Woods Blvd

Address: Independence, OH 44131

Terms & Conditions	F.O.B.
Acceptance of this quotation includes acceptance of all Terms & Conditions	Point of Origin
as specified in this quotation.	

ITEM	DESCRIPTION	QTY	UNIT PRICE	EXTENDED
	Disaster Recovery Software Support Subtotal			\$41,540.00
	Disaster Recovery Subtotal			\$815,700.00
	Production and Disaster Recovery Total			\$1,618,810.00
	Freight			\$2,000.00
	AdvizeX Services			\$65,280.00
	Less Discount			-\$685,025.00
	Sub Total			04.004.007
	Sub-Total			\$1,001,065

TOTAL: \$1,001,065

Notes:

The above quotation total does not reflect applicable sales tax and shipping charges.

Payment terms are Net 30 unless otherwise agreed to in writing.

AdvizeX Technologies is an equal opportunity employer dedicated to affirmative action and workforce diversity.

Please read this Quotation carefully. The terms and conditions set forth on this form constitute the entire agreement between seller and buyer. Seller will not be bound by any terms of buyer's order that are inconsistent with the terms herein. Acceptance of these terms may be made either (1) by written acceptance or (2) by accepting delivery of any good described on this form. This Quotation shall remain firm for 30 days from the date above unless modified in writing by Advizex Technologies, LLC prior to our acceptance of your order. This Quotation and any order placed as a result hereof shall be subject exclusively to the Terms and Conditions herein. So long as part of the payment due is outstanding, Advizex Technologies, LLC shall retain a security interest in any product or software that is part of the system. The customer agrees to execute any documents which may be necessary or



 Quote #
 Quote Date

 040412-12
 4/4/2012

(Quote valid for 30 days)

TO:

Name: Frank Whittaker

Company: West Virginia State Treasurer's Office

Address: 2019 Washington Street East

Address: Charleston, WV 25305

Phone: Fax:

Email:

FROM:

Name: Todd May

Company: AdvizeX Technologies Address: 6480 Rockside Woods Blvd Address: Independence, OH 44131

Phone: 216-901-1818

Fax:

Email: tmay@advizex.com

Terms & Conditions	F.O.B.
Acceptance of this quotation includes acceptance of all Terms & Conditions	Point of Origin
as specified in this quotation.	

ITEM	DESCRIPTION	QTY	UNIT PRICE	EXTENDED
------	-------------	-----	------------	----------

appropriate to protect Advizex Technologies, LLC security interest in the system at Advizex Technologies, LLC request. Any contract resulting from this Quotation must be signed by a duly authorized representative of Advizex Technologies, LLC. Any additions, modifications or waivers of any of the Terms and Conditions contained herein or on the attached Agreements shall only be effective if in writing and agreed to by an authorized representative of Advizex Technologies, LLC. Advizex Technologies, LLC disclaims all implied warranties, including all warranties of merchant ability and all warranties of fitness for a particular purpose. Advizex Technologies, LLC shall not be liable for incidental, special or consequential damages arising from any cause.

Attachment C: Cost Sheet

Cost information is to be inserted below based on mandatory requirements, project objectives and goals as detailed in the Request for Proposal. <u>This sheet must be submitted in a separately sealed envelope.</u> "Cost" should be clearly marked on the sealed envelope along with the RFP document# ST012007.

Invoices and Progress Payments: The Vendor shall submit invoices, in arrears, in an acceptable format to the Agency at the address on the face of the purchase order labeled "Invoice To". Payment will be made upon delivery, acceptance and testing of all equipment.

The agency is requesting an all-inclusive, total cost that includes the items below:

As indicated in Section 2.1, there will be two different delivery locations. All freight and handling is to be included in the proposed cost and not billed as a separate item on the invoice(s); FOB Destination, Freight Prepaid are the preferred terms. Delivery should be made within 30 days after contract award.

Per Section 5.5: Term of Contract and Renewals: This contract will be effective upon award and shall extend for the period of one (1) year, at which time the contract may, upon mutual consent, be renewed. Such renewals are for a period of one (1) year with a maximum of up to four, one (1) year renewal periods.

A. All Equipment (agency requests an equipment listing being proposed to be a part of response) ALL equipment must have an expected product life of at least 5 years. Extended warranty costs must be included to attain this requirement if the manufacturer does not offer a standard full 5 year warranty.

Total Cost of All Equipment: \$867,678.00

B. Maintenance and Support shall include:

All equipment/systems must include 5 years of support with a guaranteed response time of 4 hours and 24x7x365 availability coverage, and include all firmware updates.

Support Cost for Year One: \$\sum_{26677.40}\$

Support Cost for Year Two: \$\sum_{26677.40}\$

Support Cost for Year Three: \$\sum_{26677.40}\$

Support Cost for Year Four: \$\sum_{26677.40}\$

Support Cost for Year Five: \$\sum_{26677.40}\$

C. TOTAL COST FOR EQUIPMENT AND SUPPORT YEARS 1-5 \$ 1,001,065.00

The Vendor, who has lowest cost for initial equipment costs, including any extended warranty to achieve a minimum product life of 5 years, and lowest support costs for each year of Support, will be allocated the most points in accordance with the evaluation criteria described in Section 4.2 of the RFP.